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1.) 2-3+32-2 -112-+2=0

2- = 2 isz=2 : 23+3.22-11 (2) +2 ¥ ° asokf?⃝8+12-22+2
20 - 20 = 0 ✓

2-=3 : 331-3.32-11 (3)+2 -?- 0

27+27-33+2 2-=3 is NOT a

54 - 31

23 =\ 0
sokt?⃝

2.) since) ÉO z=asn
0 = 0 ✓

sin (Ia) ?= 0 z=I2isN0Tasduti
I 1=0



3.) sin" (Es) t cos' (Es) =
?
1

(Eg)
'

+ (E)
a z=Igisasohet@

& + 1-4
'

I = I ✓

sit + cos
' (¥ ) ?= 1

0.3846 + 0.6545 y y
✓
Z=¥isasoLt

t from rounding

4.) The set of all solutions is the set of all real numbers :

y,.no

From Pythagoras : of + b'=c2ZEtR-T-v2coc.hr
-0 + v2 sinZQ = v2

reos0- v7 ( cos> ① + six G) = V2

cos 20 + sink Q = 1 for
any
value ① EIR

5) ✗ It)=t"
rate ofchange : ✗

' (f) = 4th

when 1- = 2 : ✗
' (2)= 4.23=32

rate of change of the rate af change : ✗
" (t) = 12-12

when -1=2 : ✗" (2)= 12.22=48



6) for ✗ to be a fixed point : ftx) = ✗

f / D= (1-01)*-3 ) + I
d- (1) = I ✓✗=lisaF.

f- (2) = (2*-02)/2-3>+2
f.(2)= 2 ✓ ✗=2isuFP

5- (3) = (3-1)*(3-03) +3
F(3) =3 ✓x=3isaFP①

Fl-11=(-1-1)/-1 - 2) (-1-3) - I

f- 2) ' l- 3) C- 4) - I

6. C- 4) - I
-24-1
- 25

ffl ) = -25 =\ -1

✗=-1isNO-arP
7) flo ,

-1) = ( o - 11-1,0+1 -2) = ( 0 ,
- 1) ✓

CQ-yisar.RO
5- ( 1,1) = ( 11-1+1 , I - I

-2) = ( 3 , - 2)

( 1 , 1) =\ ( 2, - 2) C1i11isNOT@aF.P.



8.) if ✗ 107=0.5
✗ (1) = ¥+1 = 2-3 = 0.667

✗(2) = 1- = Igs = § = 0.6§ it I

[ [0.5] , [0.667] , [ 0.6]]

ii) Orb ( [¥] , [×] , [0-5] , 0 , 2) i

iii) Orb ( [¥] , [×] , [0.5] , 1000,1000)[
1]

[0.6180339887]

9.) i) 1st term : [1.0, 1.0, 1.0]
2nd term :[¥+11 ,÷+ , 1¥ ,]=[¥1 } ' I]

= [0.33 , 0-33, 0.33]
3rd term:[¥÷; ' ¥+7

,
'¥É
, ]

- [0.2 , 0.2 , 0.2]
Maple notation

:

①1.011.0 , 1.0] , [0.33, 0.33, 0.33] , [0.2.0.2 , 0.2]]



ii)Orb(G+¥z'i¥+z'+¥+y] , [✗iyz] , [10,1-0,10], 0, 2)

iii)Orb(G+¥z'+tz ' ,¥+y] , fxiyz] , [10,1-0,10], 1000,1000)G]
[0.0004997501157, 0.0004997501157, 0.0004997501157]

11.) ✗(n) = ✗(n -1)2- 2✗Cn - 1) +2

Underlying function : Ftx) = ✗2-2×+2

ffx)=✗ : ✗ = ✗2- 2×+2

✗2-3×+2=0

1×-271×-17=0
✗= 2 , ✗

= I

Equilibriumsolutic.rs#-xn--2xn--
12) ✗(n) = 5-2 - ✗ In - 1) (1- ✗In -1 ))

Underlying function : ffx) = Ey✗ (
1-x)

ffx)=x : ✗= Iz ✗ G-×)

✗ - 5-2×(1-11)=0
✗ ( 1- Iz + Izx) =D



✗ C -Z + Ex) -0

✗=O
, Izx = 22

✗= 3-5

EQ.soluti.rs:1/Cn)--O,xCn)=3-s-I13.)x(n)--K.xCn-
1) ( 1- ✗In -1 ) )

Underlying function : ffx ) = KXG - x)
FIX)=✗ : ✗= kill -×)

✗-kx( 1- ×)=O

✗ ( 1- Ktkx)=O
K -Kx = I

K ( 1-✗1=1

EQ solutions in 1-✗ = ¥
K : f- I 1- ✗xcn?⃝"" " &""

"

x,,?⃝
✗= 1- ¥✗(a) = k


